f KB100, KB110 and KB200 REPLACEMENT STRAﬂ

| INSTRUCTIONS
L2 . P/N 885-KIT
Nnmm—_———

KB110 KB200

Hardware Supplied

Two 5/8” Phillips Pan Head Machine Screws | One Truss Head Wood Screw

2 ® (o

the bed. Secure the screw into the screw insert.

-
4. Repeat step 3 for the other end of the strap. \
For KB200 model use the other Phillips Pan Head
Machine Screw. For KB100 and KB110 models
use the Truss Head Wood Screw.

§ Chafe Tab

5. Ensure that the strap is buckled. Clean up
mess and close unit.

Tools Required: J
Phillips Head Screwdriver or 1/8” Allen Wrench
1. Open Baby Changing Station. Remove the
screws that secure the old strap to the unit.
Discard old strap and screws.
S J
2. Position the new strap on the unit with the ~ g
buckle towards the liner dispenser. (See Image).
3. For all models, take one of the Phillips Pan 5
Head Machine Screws. Insert it through the hole
in the chafe tab and into the hole in the front of ~ J
N
J

.

Koala Kare Products | 6982 S Quentin St. | Centennial, CO 80112  We Care for Kids.  Toll Free: 888.733.3456 | 303.539.8300 | Fax: 303.539.8399
www.koalabear.com

P/N 496 January 2011



-&_J

INSTRUCCIONES PARA REMPLAZAR LA CORREA
KB100, KB110 y KB200

P/N 885-KIT
KB110 KB200
Herraje Suministrado
Dos 5/8” Tornillo Tirafondo Cabeza Plana Uno Tornillo Tirafondo Cabeza Phlllps

Philips @ M

Herramientas necesarias:
Destornillador de estrella o llave Allen de 1/8 de
pulgada (0,3 cm)

1. Abra la base del cambiador de panales. Quite
los tornillos que aseguran la correa vieja a la
unidad. Quite la correa vieja y los tornillos.

2. Coloque la nueva correa en la unidad con
la hebilla hacia el dispensador de protectores.
(Véase la imagen).

3. Para todos los modelos tome uno de los
tornillos tirafondo cabeza plana Philips. Insértelo
por el orificio de la hendidura de encaje y por el
orificio en la parte delantera de la cama. Asegure
el tornillo en su lugar.

4. Repita el paso 3 para el otro extremo de la
correa. Para el modelo KB200 use el tornillo
tirafondo cabeza plana Philips. Para los modelos
KB100 y KB110 use el tornillo tirafondo cabeza
Philips.

5. Asegurese de que la correa esta abrochada.
Limpie y cierre la unidad.

.

=y

5.

Al |

la hendidura de encajej

/

Koala Kare Products | 6982 S Quentin St. | Centennial, CO 80112  We Care for Kids.

www.koalabear.com

Toll Free: 888.733.3456 | 303.539.8300 | Fax: 303.539.8399

P/N 496 Enero 2011



/ INSTRUCTIONS DE REMPLACEMENT DE LA SANGQ

| ’ KB100, KB110 et KB200
| S REF. 885-KIT

KB100 KB110 KB200

Visserie Fournie

Deux 5/8” Vis de machine de téte de Une Vis en bois principale de botte
casserole de Phillips @ M @ﬁﬁﬁ
Outils nécessaires : A
Tournevis cruciforme ou clé hexagonale 1/8 po

(3,2 mm)

1. Ouvrez la table a langer. Retirez les vis servant
a fixer 'ancienne sangle a la table. Jetez
I’ancienne sangle et les vis.

2. Positionnez la nouvelle sangle sur la table a
langer, boucle vers le distributeur d’alaises. (Voir
illustration).

3. Pour tous les modeéles prenez une des vis
de machine de téte de casserole de Phillips.
Insérez-la dans le trou de la fixation et dans le
trou a 'avant du lit. Vissez la vis dans 'orifice
d’insertion pour vis.

4. Répétez I'étape 3 pour 'autre extrémité de

la sangle. Pour la modele KB200 utiliser la vis de
machine de téte de casserole de Phillips. Pour
les modeles KB 100 et KB 110 utiliser la vis en
bois principale de botte.

5. Vérifiez que la sangle est bien bouclée. —
Débarrassez la table a langer de tous les débris Lm

et fermez-la.

.

Koala Kare Products | 6982 S Quentin St. | Centennial, CO 80112  We Care for Kids.  Toll Free: 888.733.3456 | 303.539.8300 | Fax: 303.539.8399
www.koalabear.com

S le trou de la fixation

.

P/N 496 Janvier 2011



/ ANLEITUNG ZUM AUSTAUSCHEN DES GURTES FUR\

KB100, KB110 und KB200
P/N 885-KIT
_'

KB110 KB200

Befestigungsmaterial beiliegend

Kreuzschlitz-Flachkopf-Schrauben, US- Ein Linsenkopf-Kreuzschlitz-Schraube
Metallgewinde, Zwei 5/8 @ M @ mm
Erforderliche Werkzeuge: ~

Kreuzschlitzschraubendreher oder 1/8” bzw. 3 mm
Inbusschlissel

1. Babywickeltisch bis zur Horzontal-Lage
aufklappen. Die zwei alten Gurthélften mittels L&sen
der alten Schrauben entfernen. Gurt und Schrauben C
entfernen.

Al |

2. Neuen Gurt so an der Station befestigen, dass
die Schnalle in Richtung des Auflagenspenders
liegt. (Siehe Bild).

3. Fur alle Modelle eine der zuvor entfernten

Schrauben Kreuzschlitz-Flachkopf-Schrauben, v
US-Metallgewinde, 2x 5/8. Schraube durch das
Loch in der Gurtlasche und in das Loch an der

Vorderseite der Auflage einfihren. Schraube im é )
Schraubeneinsatz festdrehen.

4. Schritt 3 am anderen Gurtende wiederholen.
Bei de Modell KB200 benutzen Sie bitte die
Schrauben Kreuzschlitz-Flachkopf-Schrauben, US- Gurtlasche |
Metallgewinde, 2x 5/8. Bei den Modellen KB100
und KB110 benutzen Sie bitte die Linsenkopf-
Kreuzschlitz-Schraube.

5. Sicherstellen, dass der Gurt eingeschnallt ist. m
@‘réumen und Station zumachen. /
\.

Koala Kare Products | 6982 S Quentin St. | Centennial, CO 80112  We Care for Kids.  Toll Free: 888.733.3456 | 303.539.8300 | Fax: 303.539.8399
www.koalabear.com

&

P/N 496 Januar 2011



